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40,000, 000& *98.92% 39,568
OCCTV 01™ & &EX SAt
30,000,000& %98.92% 29,676
03 A& =2 THHI 756 1,188 AA432
SENY 2HE CCTV £&XSAt
40,000,000 *1.08% 432
OCCTV Ol ¥ &Xl ZAt 30,000,000 *1.08% 324
405 XHoHF S HI 7,600 0 7,600
01 AL ESFH S 7,600 0 7,600
o ad@ stdlel 2 200,000 207K 4,000
OugdE 242X 2 1,200,000& »30H 3,600
Olglol galog CCTv & X 96,000 92,000 4,000
Xl 48,000
Al 48,000
401 AIEHI L 201 96,000 92,000 4,000
Xl 48,000
Al 48,000
01 A& Bl 95,136 91,172 3,964
OO0l HAME CCTVE X
32,000,000& *3JH 2~%99. 1% 95,136
Xl 47,568
Al 47,568
03 Al 20 HI 864 828 36
OO0l HAME CCTVE X
96,000,000& *0.9% 864
Xl 432
Al 432
S2YH CCTV XAt 200,000 160,000 40,000
< 40,000
Al 160,000
401 AIEHI L 2 CHEI 200,000 160,000 40,000
< 40,000
Al 160,000
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slotEg nE
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SN FE - EA(SA) - MRAY - BES 0l &t o e 2
01 A& HI 198,560 158,848 39,712
O==2&8 CCTV £ X ALY
200,000,000& *99.28% 198,560
< 39,712
Al 158,848
03 A& =2 THHI 1,440 1,152 288
O==228 CCTV XA
200,000,000& *0.72% 1,440
< 288
Al 1,152
& FZH(FESAD) 30,600 24,600 6,000
ZH(EE2SA ) 30,600 24,600 6,000
22H(EES4) 30,600 24,600 6,000
202 Oddl 26,400 20,400 6,000
01 = LH 4 bl 26,400 20,400 6,000
OZE=Z 0 100,000 x22H »12& 26,400
203 YR =2t 4,200 4,200 0
04 FN2IELSFTH 4,200 4,200 0
OCEESH L 350,000& 128 4,200




